Year 2 Maths Activities - Week Beginning 1.3.21

We're on the last week of fully learning remotely! And the last week of division!

Thank you for helping your child revise the addition and subtraction methods and for
supporting them learn these early multiplication and division methods. We're looking

forward to seeing how much they've learnt when they return next week.

The step-by-step guide about how to group is included at the bottom.

Day | Objective: To Divide by 2
1
Learning video: https://vimeo.com/498260506

Activity: Use Activity 1

Extra activity for 'stretching further':
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: There are 32 carrots in a field. i i g 5 g

i1 pick 12 for my pet rabbit and split the remaining £ £

: carrots between my mum and my aunt. - I make 3 towers of 2 blocks. i

H i i Tiamakes the same tower as me but makes 4

i How many carrots do they get each? £ more than me.

: : i We then split all of them between us so we have £
Show the calculation you have used. H ' an equal amount. How many blocks do we have?

~ : Show all the steps you used.
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" T'have 92 gloves and want to pair ". 55 I have 78 gloves and want to pair

them up. How many pairs will I them up. How many pairs will I
have? : have?

Show a multiplication and
H division calculation. :
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Show a multiplication and division



https://vimeo.com/498260506

Answers:

I make 3 towers of 2 blocks.

There are 32 carrots in a field.
I pick 12 for my pet rabbit and split the remaining
carrots between my mum and my aunt.

How many carrots do they get each? more than me.

10

Show the calculation you have used.

32-12=20

‘ 20+2=10

10

Show all of the steps you used.
20+2=10
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T have 92 gloves and want to pair “
them up. How many pairs will I
have?

55 I have 78 gloves and want to i)air
them up. How many pairs will I

have?

Show a multiplication and
division calculation
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Show a multiplication and division

Tia makes the same tower as me but makes 4

We then split all of them between us so we have
an equal amount. How many blocks do we have?
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Day | Learning objective: To recognise odd and even numbers
2
Learning video: https://vimeo.com/498261586
Activity: Use Activity 2.
Extra activity for 'stretching further':
- . Answers o
Malachi says that when he adds three even
numbers together, his total will be odd
Malachi says that when he adds three even because three is an odd number.
numbers together, his total will be odd
because three is an odd number. @@%@ @
@@@@ @@© @ Is he correct?
@ @ @@@ Convince me.
@ What else can you find out?
I
Is he _LD"ELL Malachi is incorrect because three even
Convince me. o N
numbers will always make an even total.
Day | Objective: To Divide by 5



https://vimeo.com/498261586

Learning video: https://vimeo.com/498262138

Activity: Use Activity 3

Day | Learning objective: To Divide by 10

Learning video: https://vimeo.com/498262386

Activity: Use Activity 4

Extra activity for 'stretching further':

|
|O Shop A sells 80 lemons in bags of 10.
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I Shop B sells 100 lemons in bags of 10. 1 Malachi has SOp in his pocket in 10p coins. I
| 1l ‘ - [
Tia has 3 coins in her pocket.
: Ibuy all of the bags from both shops. : : How many coins do they have altogether? :
| How many bags do I have? 11 |
I A B (L I
I 11 Draw a picture to help prove your answer. |
I 11 |
| 11 |
T 4
e T e
o Shop A sells 80 lemons in bags of 10. 8 Leanna has 90p in her packet 1(51 %%ﬂf;tns.
Malachi has 50p in his pocket in 10p coins.
Shop B sells 100 lemons in bags of 10.10) 5 coins

Tia has 3 coins in her pocket.
How many coins do they have altogether?

I'buy all of the bags from both shops.

How many bags do I have?

A B
18

Draw a picture to hGI.P prove your answer.
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Day | Objective: To apply and use division knowledge

We really hope your child has been able to find success with division. Today's
session is really for applying all they've learnt and showing what they can do
using Activity 5, which is a range of questions that have been covered in some
form already. This should give you a good gauge of how secure your child is with
division.

Keep scrolling for little extra challenge...



https://vimeo.com/498262138
https://vimeo.com/498262386

A Little Extra

Pairs of Legs

How many legs does each of these three creatures have?
How many pairs is that?
How do you know?

Spider Crab Bird

What about these three creatures?

Snake Insect Cat

No legs 1 pair of legs 2 pairs of legs

3 pairs of legs 4 pairs of legs 5 pairs of legs

Can you match the animal to the number of pairs of legs it has?

Did you know that legs on living creatures always come in pairs?




Division

Children divide by sharing objects info equal groups using one-to-one correspondence.
They need to do this using concrete manipulatives in different contexts, then move
on fo pictorial representations. Children will be infroduced to the + symbol. They will
begin to see the link between division and multiplication.

Steps for dividing using sharing:
Draw(n3 Groups §For Dunston;
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Draw(n3 Groups §or Diviston:

24 = b =
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Step 1 - Draw your sharing groups. The
number of groups you need to draw will
be the smaller number in the number
sentence and the larger number is how
many ‘things' we need to share amongst
them.

Step 2 - Share the larger number
amongst the groups. Do this
systematically. Draw one in the first
group and say ‘one’, then draw the second
one in the next group and say 'fwo’, the
third in the next group and say ‘three'.
When you have put one in each group, go
back to the first group and start again.
Keep going in this way, counting the whole
time until you get to the larger number
(in this case 24).




= Step 3 - Once you have shared the
Divisten:  bigger number equally between your
2k =L G groups, count how many ‘things’ are in
each group and that is the answer.

@ 12 + 2 =6

guantity of in each
groups  group
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Like with Multiplication, children should use their times tables where they are able
to. As shown, the children begin by seeing division as 'sharing’ into equal groups, but
they should now also start to see the link between multiplication and division. They
are 'inverse operations’, so to do 12 + 3, they should be able to count in 3s until they
get to 12 and then see that they counted 4 times, it ook 4 lots of 3 o get to 12.

They may just know this as a humber ] e '5 -

fact, or they may be able to do it o vas A
mentally. Alternatively, it helps some | Lot o5 3 %3/“—\1/—\
children to see it drawn on a humber M‘l
line, as shown. o 3 N ¢ 1 a
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Extra things for stretching further:
Understanding of remainders. |7 = 5 "=

1) When your child draws the counters for @ @ @ @ ® .f'

sharing, they should see that the groups

' There are
are rllo’r equql and they have some 'left 2 \eft over
over' that will not share exactly.

2) Alternatively, they might be able to use their times tables. So in the above
example, they may know that 17 does not occur in the Five Times Table, but 15
does. If it was 15, there would be 3 in each group and then 17 is 2 more than 15,
so there will be 2 left over.




